
st. Lawrence High School
 A JESUIT CHRISTIAN MINORITY INSTITUTION 

Worksheet 10 Solutions
Sub: Geography                                Class:12            Date: 13-5-2020 

Chapter 12: Topic: Commercial Farming                   Pre-test Term

1. Choose the correct answer

a. Temperature required for commercial farming of wheat in temperate region is           

i. 10°-20°C  ii. 15°-20°C  iii. 20°-30°C  iv. 30°-35°C

b. Commercial farming of Jute cultivation in Bangladesh requires a temperature of         

i. 10°-20°C  ii. 15°-20°C  iii. 20°-30°C  iv. 30°-35°C

c. Rainfall amount required for plantation crop in tropical region is  i. 50-100cm              

ii. 100-150cm iii. 150-250cm  iv. above 300cm

d. Commercial cultivation in subtropical region requires a rainfall amount of                    

i. 50-100cm ii. 100-150cm iii. 150-250cm  iv. above 300cm

e. Commercial cultivation in Bangladesh is done by  i. intensive  ii. extensive                     

iii. plantation  iv. shifting agriculture     

f. Tea cultivation in Sri Lanka is done by i. intensive  ii. extensive  iii. plantation                

iv. shifting agriculture     

g. Commercial cultivation method mainly cultivates crops for the requirement of            

i. farmer  ii. local market iii. inland market  iv. export market

h. Development of efficient transportation method is an important requirement for       

i. extensive cultivation  ii. plantation farming  iii. shifting cultivation  iv. both i and ii

i. Coffee gardens are known as fazenda in  i. Venezuela  ii. Mexico  iii. Brazil                     

iv. Argentina 

j. 70% of Egyptian cotton is  i. Giza 86  ii. Giza 87  iii. Giza 80 iv. Giza 92

k. 10%  of Egyptian cotton is  i. Giza 86  ii. Giza 87  iii. Giza 80 iv. Giza 92

l. Long staple cotton variety of Egypt is i. Giza 86  ii. Giza 87  iii. Giza 80 iv. Giza 92

m. Giza 92 is  i. very long  ii. long  iii. medium  iv. short staple cotton

n. Commercial cultivation is mainly  i. one crop  ii. double crop  iii. multiple crop              

iv. Both i and ii

o. Commercial grain farming in the USA is  i. mechanized  ii. labour intensive  iii. 

depends on inanimate energy  iv. both i and iii. 
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